
Walkthrough – Romantic Moment 
Challenge 
The challenge was given with the text below. 

 

Solution 
The first thing to notice when attempting to solve this problem, is that some of the characters have 

unusual dots surrounding them, while some do not.  

The characters with the dots represent 1s and the characters without the dots represents 0s.  

 

The text above can be translated into: 010100010100001101010 

Once the entire text has been translated, convert the binary message into ASCII to find the flag. 

 


